mean # PXL hits vs eta

<pixel hits>

Ratio

6

2_ _____________________________________________________________________
S0 T O T T
os5k —2 e e

n

| mean # PXL Layers with measurement vs eta |

<pixel layers>

Ratio

L)

0.95

.....................................................................

.....................................................................

=
TT T T[T T 1T
2
H

3T 0 1 23

mean # STRIP hits V|

<strip hits>

Ratio

—=— DQM_noFitZ_siepZ_tibar-phasel-newgeom
—e— DQM_Fit2_step2_ttbar-phasel-newgeom
—— DQM_Fit2AndCPEGeneric_step2_ttbar-phasel-newgeom

20
18
16
14
12
10

8

0.95

w

- SRas- a0 - o P e S mme -

—+— DQM_Fit2AndCPETemplate_step2_ttbar-phasel-newgeom
TSR MR M— 1] O O A

<strip layers>

Ratio

©
I

- SRRe- an - - T PP e O P S e

=
TT T T[T T 1T




	Contents
	Page 1


